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rt I. Multiple choice. S@ all work on a separate sheet of paper.
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1. The expression
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can be written, for x>0, as

2. What s the value of 2, (2m+1)""1?
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3. Inalab experiment, 1500 grams of a radioactive isotope decays at a rate of 6% per day. Which of the
following is a recursive definition representing the mass a radioactive sample on the nth day of the

experiment?
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———4.—Given the graph of /at the right; for what values-ofxis
f(%)>0 and increasing?
(0) 2<x<8 © 6<x<9
6<x<8 (d)0<x<2 | @”\%
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5. Which of the following is rof an identity? = ‘ 3
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() (2a+b) =84° +12a*bh+6ab’® +b° © o +b =(a+b)(a ab+b2)
G§>(a+b) —(a- b)2—262 @ (x*+y?f =(3*-»*] +020)’
(o) (axb) ~ (s-b)(ab) 2 |
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6. The soluuons"?)ogl/ equation x+6+——=0 are )(’11-&)('}'”’« O
bx=—3ii\/§ b) x=-6+i11 (c) x=—3i2i\/_ d) x= =—6+2i11
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7. The expression x =6 23x+1 is equivalent to < ( + /9\_ Lo 2%
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(2) x*—4x-11- (c) x*—4x+5-
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8. A polynomial f(x) shown has zeroes at x =—4 and x =2 and has 3
a relative maximum at (—2,8). Which of the foliowing is the value 25
of £(6)? Yz alxr ) (X- )
(Hint: Write the equation of the polynomial first) o \
(@) 12 (©) 24 $-al vy (22)7
@40 d 64 §. 324
a= 4
' ‘ A o
9. Which of the following graphs are odd functions? F(x) = L} (K TY ) (X '3)
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10. Which of the following represents the solutio (s) %o\ tlile equation %JE - i = 2 ? A - 2= 5 X
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Part II. Free response. Show all work on a separate sheet of paper. X f(x)
11. Which function, f(x) or g( ) shown atthenghthas 2% = 4x° = 5% 4.3 ~4 108125
a greater average rate of change on the interval [~ 8 10620
i&\ e geonfhet ;”fﬂ [‘7/ /7%) -2 | 125 :>
M 7808 (3. 19¢ 7141 Q{;l s
g b R
12. Solve algebraically: /50—-7x +6=x _ 8 %/ > =
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